Installation Instructions for 920CIRQLGD

Cirque Large (LED) 700CQL_-LED 14

TECHLIGHTING

CEILING COLLECTION - ‘

GENERAL PRODUCT INFORMATION: (‘““'s:)
CN, b

This product can mount to either a 4" square electrical box
with round plaster ring or an octagon electrical box. CAUTION—RISK OF FIRE

This product requires installation by a qualified
electrician. Before installing be sure to read all
instructions and TURN OFF POWER TO THE
ELECTRICAL BOX.

This product is suitable for damp or wet locations.

This product can be dimmed with a low-voltage electronic
dimmer.

This fixture may be ceiling or wall mounted.

This instruction shows a typical installation.

Install the Fixture

FIXTURE BASE 0
l W #6-32 SET SCREWS @%Q% €«—BACK PLATE
| .

A
L ° KNURLED NUT

C D)
I I

0l

T 1/16 ALLEN
GLASS SHADE WRENCH

D While supporting the glass shade, loosen (Do Not
Remove) the four #6-32 set screws on mounting plate

with the 1/16 Allen wrench. ED» Remove the back plate from the assembly by

unscrewing the two knurled nuts.
B Carefully remove the glass out of the fixture base.




s
/ﬁa\
7AW
MOUNTING g #8-32 SCREW

PLATE

D Secure the mounting plate to the electrical box with 2
#8-32 screws.

B Ground the mounting plate in accordance with local
electrical codes.

I Connect the black fixture wire to the hot power line
wire with a wire nut.

ED Connect the white fixture wire to the neutral power line
wire with a wire nut.

ol
298
000 o)

000!
000!
2958500

0

955
000
S0

00

o

00!

009,
000

00

0
90

0
0

00089
9000
0099906 00!

0980005,
01238
1

ED Place all wires and wire nut connections into the
electrical box.

EP» Mount the fixture base to the ceiling by reinstalling it
onto the mounting plate and secure it tightly with the
knurled nuts.

000 |
1333
005

0000
Sasihes

oR9000, 10
20030090

0
S0
0

) For wet location installation, caulk around the
mounting base with waterproof construction sealant.

Install the Shade

MOUNTING BASE #6-32 SET SCREW
v
k
GROOVE ON 1/16 ALLEN
GLASS SHADE WRENCH

D Place the glass shade into the fixture base until the
grooved section of the glass shade is completely inside.

D Hold the glass shade in place and tighten all four #6-32
set screws with the 1/16 Allen wrench to lock the glass
shade in place.

SAVE THESE INSTRUCTIONS!

TECHLIGHTING

7400 Linder Ave, Skokie, IL 60077
847.410.4400

www.techlighting.com
© 2012 Tech Lighting, L.L.C. All rights reserved. The "Tech Lighting" graphic is
a registered trademark of Tech Lighting, L.L.C. Tech Lighting reserves the right
to change specifications for product improvements without notification.

A Generation Brands Company



